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Appendix Review Problems Answers

x3+x24+2x—6
9x2 — 12xy + 7y?
xy3+y+%

2x* —7x% — 15

27x3 — 135x% + 225x — 125

x-3
(x+3)(x-2)
6x+13

x+3
2x(x—2)
3(x+2)

2x%y(5x — 6y)

(5x —7y)(2x — 3)

32x —1)(x +5)
(Tm+2n)(x+y)(x—y)

x=6

xeR
-3<x<7
x<—140rx = -6

x=3o0r-2

x:—zorll
x:2i\/2—g

No real roots
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11X 7
6 4y

9x2 — 24x + 16

x*+x%2-20
5

x+1
5(x —3)

-x2-3
(x-2)(x+1)(x-3)
x%-9
(x+4)(y+3)

3(x+3)(x—3)
(x +20)(x? — 20x + 400)
x(6x —1)(x —10)

23

X< ——
4
7
X =-
4
x=2o0r-—11
1
3>x >’—'§
x=-1

No real roots

No real roots

x=7



